MIAMI-DADE MIAMI-DADE COUNTY
COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy
Wayne Dalton a Div. of Overhead Door Corporation

3395 Addison Drive

Pensacola, FL 32514

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to be
used in Miami-Dade County and other areas, where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section
(In Miami-Dade County) and/ or the AHJ (in areas other than Miami-Dade County) reserve the right to have this
product or material tested for quality assurance purposes. If this product or material fails to perform in the accepted
manner, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or
suspend the use of such product or material within their jurisdiction. RER reserves the right to revoke this acceptance if
it is determined by Miami-Dade County Product Control Section that this product or material fails to meet the
requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Models 6600/8300/8350/8500/8600/8650/5150/5200/TM515/TM525 Insulated Steel
Sectional Garage Door up to 12ft.-2in. Wide with Optional Impact Resistant Glazing

APPROVAL DOCUMENT: Drawing No. D-363474, titled “Windload Models 6600/8300/8350/8500/
8600/8650/5150/5200/TM515/TM525, +46/=52 PSF Dade County, 12°2” Max. Width”, sheets 1 through 4
of 4, dated 08/28/2018, with revision B dated 07/15/2021, prepared by Wayne Dalton a Div. of Overhead
Door Corporation, signed and sealed by Dwayne J. Kornish, P.E. on 09/03/2024, bearing the Miami-Dade
County Product Control revision stamp with the NOA number and expiration date by the Miami-Dade
County Product Control Section.

MISSILE IMPACT RATING: Large & Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model/
series number, the positive and negative design pressure rating, indicate impact rated if applicable,
installation instruction drawing reference number, approval number (NOA), the applicable test standards,
and the statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s
sidetrack, bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,
for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section
of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
1n 1ts entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA # 23-1120.11 and consists of this page 1, evidence pages E-1, E-2 and
E-3, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

é@ NOA-No: 24-0814.04
Expiration Date: October 10, 2029
09/10/24 Approval Date: September 19, 2024

Page 1



Wavne Dalton a Div. of Overhead Door Corporation

[y

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER NOA # 19-0815.06

DRAWINGS

1. Drawing No. D-363474, titled “Windload Models 4600 / 4650 / 6600 / 8300 / 8500 / 8650 /
5150 / 5200 / TM515 / TM525, +46/=52 PSF Dade County, 12°2” Max. Width”, sheets 1
through 4 of 4, dated 08/28/2018, prepared by Wayne Dalton a Div. of Overhead Door
Corporation, signed and sealed by Dwayne J. Kornish, P.E. on 10/01/2019.

TESTS
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Test, per FBC, TAS 202-94
5) Tensile Test per ASTM ES8
along with marked-up drawings of a 12°-2” Wide, 8300 Series Sectional Garage Doors,
prepared by Intertek, Test Report No. J1626.01-801-18-R0, dated 06/24/2019, signed and
sealed by Tyler Westerling, P.E.

2. Test report on Standard Test Method for Evaluation of Painted of Coated Specimens
Subjected to Corrosive Environments per ASTM D1654-08(2016)-e1 and Standard Practice
for Operating Salt Spray (Fog) Apparatus per ASTM B117-16 and on garage door exterior
steel, prepared by Intertek, Report No. J4650.01-106-18 RO, dated 05/24/2019, signed by
Gary T. Hartman, P.E.

CALCULATIONS
1. Anchorage verification calculations prepared by Overhead Door Corp., dated 06/07/2019,
signed and sealed by Dwayne J. Kornish, P.E.

MATERIAL CERTIFICATIONS

1. Test report on Ignition Temperatures of Plastic per ASTM D1929-16 on BASF Corp.
Elastopor P19670R polyurethane foam insulation, prepared by QAI Laboratories, Inc., Test
Report No. RJ6431F-1, dated 09/28/2018, signed by Bryan Ortega.

2. Test report on Surface Burning Characteristics of Building Materials per ASTM E84-18b on
BASF Corp. Elastopor P19670R polyurethane foam insulation, prepared by QAI Laboratories,
Inc., Test Report No. RJ6648F-4, dated 12/12/2018, signed by Bryan Ortega.

3. Notice of Acceptance No. 18-0918.06, issued to Plaskolite, LLC, for their TUFFAK
Polycarbonate Sheets, approved on 11/15/2018 and expiring on 08/27/2022.

QUALITY ASSURANCE

1. Miami-Dade Department of Regulatory and Economic Resources (RER).

STATEMENTS

1. Statement letter of code conformance to the 6 edition (2017) FBC issued by Overhead Door
Corporation, dated 05/24/2019, signed and sealed by Dwayne J. Kornish, P.E.

2. No financial interest letter issued by Overhead Door Corporation, dated 08/07/2019, signed

and sealed by Dwayne J. Kornish, P.E.

e

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No: 24-0814.04

Expiration Date: October 10, 2029
Approval Date: September 19, 2024



Wavne Dalton a Div. of Overhead Door Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL NOA #20-1106.17

A. DRAWINGS

1. None.
B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. Test report on flame spread and smoke developed of BASF polyurethane foam per
ASTM E84, Test Report # RJ7233F-1, dated 10/14/2019, prepared by QAI
Laboratories, Inc. and signed by Brian Ortega.
2. Test report on ignition temperature of BASF polyurethane foam per ASTM D1929,
Test Report # 10399361SAT-4, dated 10/14/2019, prepared by Intertek Building &
Construction (B&C), signed by Servando Romo.

F. STATEMENTS
1. Statement letter of code conformance to the 7% edition (2020) of the FBC, issued by
Wayne Dalton a Div. of Overhead Door Corporation, dated 01/21/2021, signed and
sealed by Dwayne J. Kornish P.E.

i

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No: 24-0814.04

Expiration Date: October 10, 2029
Approval Date: September 19, 2024



Wavne Dalton a Div. of Overhead Door Corporation

3.

A.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER NOA # 23-1120.11 AND NEW

DRAWINGS

1. Drawing No. D-363474, titled “Windload Models 6600/8300/8350/8500/8600/8650/
5150/5200/TM515/TM525, +46/—52 PSF Dade County, 12°2” Max. Width”, sheets 1
through 4 of 4, dated 08/28/2018, with revision B dated 07/15/2021, prepared by
Wayne Dalton a Div. of Overhead Door Corporation, signed and sealed by Dwayne J.
Kornish, P.E. on 09/03/2024.

TESTS
1. None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS

1. None.
STATEMENTS
1. Statement letter of code conformance to the 8™ edition (2023) of the FBC, issued by

Wayne Dalton a Div. of Overhead Door Corporation, dated 08/29/2024, signed and
sealed by Dwayne J. Kornish, P.E.

“Submitted under NOA # 23-1120.11”

2. Statement letter of code conformance to the 8" edition (2023) FBC issued by Wayne
Dalton a Div. of Overhead Door Corporation, dated 01/25/2024, signed and sealed by

Dwayne J. Kornish, P.E., on 01/29/2024.

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No: 24-0814.04

Expiration Date: October 10, 2029
Approval Date: September 19, 2024



1
8 \ 7 ! 6 | S v 4 | 3 | 2 L

REVISIONS
IN%TAETSED(UD,\JELSEIEg EBQ%RYEE_%ZE%IFIED THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2023 FBC. ER REV DESCRIPTION DATE APVL
2. SECTION HEIGHTS MAY VARY TO CREATE VARIOUS DOOR HEIGHTS, 24" MAXIMUM SECTION HEIGHT
5 FOANSTOP GR JAMB SFAL DN ALL JAMBS REGUIRED T0 MEET NECATIVE DESIGN PRESSURE ER_| P00 PV DRAVING Bre6s | B3
4, AESTEgK%N ﬂﬁg?RgéNgUE U\AI[}TIA’{SIDAHDI%J CYUIE%YSF%E%A(D}%HLS TAS 201-94, TAS 202-94, & TAS 203 94, 32442 A |ADDED IRC/IBC NOTE 8/26/20 | TLC
F 6 JAMB LOAD CALCULATIONS: 32661 B [UPDATED MODEL NUMBERS 1/15/21 TLC
DOOR WIDTHX1 FT OF HEIGHT)DESIGN PRESSURE)
(608)(1 FOOT)(46.00 AND -52.00)(279.68/-316.16) LB
7. JAMB FASTENER REQUIREMENTS: s
Fx =(1/2 DOOR WIDTHX! FT OF HEIGHT)XDESIGN PRESSURE) OAMSTOP/ JAMB SEAL. MIN 7/16" THICK, NAILED EVERY 6° ON CENTER.
Fy =260 LBS, -
-1 8 DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO G40 MIN, VITH BAKED-ON PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT. .
9, FOR ANCHORING INTO WO I]D USE ONE 5/16° LAG SCREV PER TRACK BRACKET WITH 1-1/2* EMBEDMENT INTO SOUTHERN PINE (G=055) TR BETTER. m_
10, WELD SLOT ON ANGLE 3/32" X 1* LONG ON 12* CENTERS. ‘IF WELDING MOUNTING OPTION IS CHOSEN/S
11, LIFT UP MECHANISM- MANUAL CHAIN LIFT, OR OPERATOR IS NOT PART OF THIS APPROVAL. DOOR JAMB
12, STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOV HEADROOM TRACK IS AVAILABLE, FOR LOV HEADRDUM LIFT CDNDITI[INS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP BRACKET WITH A MIN OF SECTION B-B
() 1/4 - 14 X 7/8" SELF DRfLLING CRIHPTITE' SCREWS IN LIEU OF THE BRACKET SHOWN ON DRAVING. U-BAR ON TOP SECTION SHALL BE INSTALLED ON TOP OF LHR TOP BRACKETS. SCALE 1112
13 ATTACH STRUTS WITH (@) 1/4-14x7/8" SELF DRILLING CRIMPTITE SCREWS AT ALL HINGE LOCATIONS AND (2) HEWEEN EACH INTERMEDIATE HINGE, PRODUCT REVISED
E1 14, KEY LOCK, OR SIDE LOCK REQUIRED. as complying with the Florida
15 IMPACT RESISTANT GLAZING I]PTIDN IMPACT RESISTANT GLAZING SYSTEM MAY BE INSTALLEI] IN TOP OR INTERMEDIATE SECTIONS. GLAZING SHALL BE 1/4” POLYCARBONATE. FASTENED WITH # 8 Building Code
X 1" SMS. SEE DET, T 2 FOR ASSEMBLY DETAILS. MAXIMUM OF ONE GLAZED SECTION. NOA-No. 24-0814.04
16, THE UESIGN 13 THE SUPPDRTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY UF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE WITH
CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING. Expiration Date 10/10/2029
17. LOUVER OPTION - LI]UVERS MAY BE INSTALLED IN DOOR IF THE AREA OF EACH LOUVER DDES NOT EXCEED 60 IN2 DOOR VENTS LARGER THAN 60 IN? MUST BE TESTED FOR IMPACT.
LA 2-1/4" X 6-3/8" X 22 GA BACKER PLATE IS TO BE LOCATED AT EVERY CENTER HINGE AND 3" X 3-3/4" X 22 GA BACKER PLATE AT EACH END HINGE LOCATION. EACH IS ADHERED TO THE INTERIOR OF By
- THE SECTION BACKER STEEL. Miami-Dade Product Control

TORSION SPRING COUNTERBALANCE

ABLE DRUM /SHAFT

ACER STEEL HAVING A MINIMUM 26 GA _5/g" v
/JDINT SEAL / POLYAMIDE /EPIC'%%? VITH A MINDUM YIELD STRENGTH e sl i e z AT 0
OLYURETHANE FOAM ' . 100 SELF DRILLING SCREVS NOIT — NITTCHED DOUBLE I
/P 1 —THERHAL IREAK < | L e REQUIRED AT THESE END AP FR GLAZED 2|
: BACKER STEEL HAVING MINIMUM 29 GA 825 | LOCATIONS SECTIONS \ T 100
900 | THICKNESS {7005 14125 i \ == — S L
1800 03 _— FLAG AY6LE_~ l —— —
| 136 | [T = 130
— | [ RIZINTAL TRACK R |- — o
L 0 4 1/4 -20 X 9/16* LARGE OPTIONAL IMPACT GLAZING—| . T ] (T0P ONLY)
R = —
HEAD TRACK BOLTS [R END HINGE — . L]
g SR [ =
) i - # STRUT 1 PER SECTION — =3 o
120 - 16 GA STIFFENEND e 4 X018 G|
o IR AR STECL BACKER i
SECTION A-A - T i
SCALE 114 1/4 - 20 X 9/16° TRACK PRI R GORNERY =y ; 7R fe
BT WD 174 20 WX NUT b | i
AT EACH JAMB BRACKET 16 GAUGE ENDCAPS. (8" WIDE  ~
- £ SECTIDN HEIGHT Lo HG o
- SECTION HEIGHT - 1o5* ——

EACH ENDCAP IS ATTAC
T0 THE DOOR SKIN VITH (2)
#10 SHEET METAL SCREWS ]

SECTION A-A ENDCAP DETAIL

I

--::-(h:__::n-

WALy | 1]
R L] 1’
SIDE LI]CK/ A
EVEEX&AL TgACK ' = Q = i
5 TRACK - 12 GhA— ROLLER—"] = g
BOTTON FIXTURE~_| |
1l 3" STRUT BOTTOM SECTION ONLY : c .
el X 20 GA— | '
‘ U . A -_I—_e'-l-l'
2-1/4" X 6-3/8" X 22 GA INTERNAL STEEL BACKER ) £
JAMB BRACKET SPACING PLATE CEACH CENTER HINGE LUCATION) 12" MAX DOOR VIDTH AND 240" MAX DOOR HEIGHT WALL ANGLE ANCHOR SPACING
e s S TRAVN e —sm] [BYRe | oevsacoLa, FLORIDA
THIRD ANGLE i Ly /]
ETAINER ANGLE TRACK INTERPRET DIMS & TOLS S TR L | Dalton.
2" TRACK - 15 GA '@‘G FER BSHE [ldo =403 APPROVED = — [DESCRI
4576 COUNTY ROAD 160 (ASTRAGAL) INCHES ANGULAR = +5° i - 8600/8630/5150/5200/THSIS/THS2S, +46/-52PSF
MOUNT HOPE, OHIO SECTION C-C SECTIN DD A DIVISION OF OVERHEAD DO NOT SCALE HOLES: : DADE_COUNTY, 12'2* MAX WIDTH
SCALE 114 . DIOR CORP VITH SYHBOL *_ CINSP-IBNY S 231 = +004/-003 VINDLOAD SPECIFICATION  |SIZE[DVG NO. REV
PRDFESSIDNA[LE:EIIZIZ;:"; ?éAIFiEP}Ql;S?l?ED ONLY FIR e PEN%%%%L%DDASL%AAIBAIXSSI4 ?QES%U%%ERAUg%%é’é%”épﬁﬂ%[‘g m} g g[(]lo = ”085288% i ! il L
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |ALC GEOWETRY GOVERNED BY 3D CAD DATABASE: SCALE 142 | UDM = EA | SHEET 1 OF 4

T T T 2 T 2 T 1
£ FAMID-FIR REV & 8 ? 6 3 T 4 3

>


Carlos Utrera
New Stamp


4 3

2 1

3/8" X 3" LAG SCREV, WITH 1-
178" VASHER, MAX, OF 24" OC,
MIN. 2-3/4" EDGE DISTANCE

2 X6 #3 3P (G059

-—‘—2.75’ EDGE DISTANCE

R BETTER

WOOD MOUNTED TO # 3 SOUTHERN PINE SUBSTRATE

2 X613 3P (=055
OR BETTER

m

9/16" X 1-5/8" LAG SCREV
INTO MIN 2 X 6 # 3 SP (6=0.95)

2.9t]" EDGE DISTANCE

R BETTER, (SEE DOOR
ELEVATION ON SHEET 1 FOR

%

13 GA CONT,

HOLE LOCATIONS)

GLASS BITE 0 .5° L

EXTERIOR FRAME

MOUNTING TDAVDDD

WALL ANGLF i
TRACK CLIP ——

6 ﬂ5\4 o

TRACK BOLT AND
174-20 HEX NUT

MB

DAYLIGHT OPENING SEE TABLE

174" POLYCARBONATE

INTERIOR FRAME 6063-T6 ALUMINUM

MOUNTING 10 STEEL
JAMB DETAIL

——+4" EDGE DISTANCE

-——3" EDGE DISTANCE

3/8" DIA. SIMPSON TITEN HD

Z

FASTENER, MAX. OF 18* OC,, 2-3/4"
MIN, EMBED INTO MIN. 1500 PSI GROUT

/\

%/3/8' DIA. SIMPSON TITEN HD FASTENER, MAX, OF
24’ 0C, 2-3/4" MIN. EMBED INTO MIN, 2000 PSI

FILLED CMU, MIN. 4* EDGE DISTANCE

CONCRETE, MIN. 3" EDGE DISTANCE

1-1/8" OD. WASHER

\e X643 SP (=055 IR BETTER/

WOOD MOUNTED TO GROUT FILLED MASONRY
BLOCK DETAIL

3/3¢ 1-12

~—1—4’ EDGE DISTANCE

1-1/8" LD WASHER

WOOD MOUNTED T0_2000 PSI
CONCRETE DETAIL

~—r——EDGE DISTANCE
3 ANCHOR OPTIONS;

MIN 3/16" THICK STEEL

FOR MOUNTING

OPTIONAL: WALL ANGLE MAY BE
ATTACHED TO SUPPORTING STEEL
WITH MIN, 1) 174 - 14 X 1" SELF

7z

¢ ANCHOR OPTIONS;

1) 3/8" DIA, SIMPSON TITEN HD
FASTENER, 2-3/4" MIN, EMBED INTO MIN.
1500 PST GROUT FILLED CMU, MIN. 4"
EDGE DISTANCE

/\

DRILLING SCREW WITH 1 [LD. WASHER,

3" EDGE DISTANCE
) 3/8" DIA HILTI KWIK BOLT 3, EXPANSION
ANCHOR, 2-1/2" MIN. EMBED, MIN. 4" EDGE

DISTANCE
3) 3/8" DIA. POVER LOK/BOLT, EXPANSION
ANCHOR, 1-5/8" MIN. EMBED, MIN. 4" EDGE

/ 1) 3/8" DIA, SIMPSON TITEN HD FASTENER, 2-3/4

IN LIEU OF VELDING, (SEE DOOR
ELEVATION N SHEET 1 FOR HOLE
LOCATIONS)

ANCHOR
1" 0D, WASHER

7 2) 3/8" DIA, HILTI KWIK BOLT 3,
EXPANSION ANCHOR, 2-1/2" MIN, EMBED,
MIN. 4" EDGE DISTANCE

¥(SEE DOOR ELEVATION ON
SHEET 1 FOR HOLE LOCATIONS

1" 0D,

MIN. EMBED INTO MIN. 2000 PSI CONCRETE, MIN.
i
7 ) DISTANCE

ANCHOR
WASHER *(SEE DUOR ELEVATION ON

SHEET 1 FOR HOLE LOCATIONS)

MOUNTING TO 2000 PSI

SECTION E-E
SCALE 1: 4

INTERNAL STEEL BACKER
PLATE ADHERED TO INTERIOR
I]FETHE SECTION BACKER

—
oy

MOUNTING T0 GROUT FILLED MASONRY
BLOCK_ DETAIL

USH NUT

7/16" DIA, STEMS TOP
AND BOTTOM ROLLERS

INTERNAL STEEL BACKER
PLATE ADHERED TO INTERIOR
OF THE SECTION BACKER
STEEL

CONCRETE DETAIL

13 GA MIN, WIDE BODY END HINGES.
ffl END HINGE IS 14 GA.

ATTACHED WITH (6) 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(@) OF WHICH ARE IN-BOARD

T
6063-T6 ALUMINUM , | 13 GA ROLLER SLIDE ATTACHED
DOOR SECTION #8 X 1" SHEETMETAL SCREV afal  |ofi® 10 T0P FIXTURE VITH 5/16* - 18 2 IR 3" ROLLER VITH 7/16* DIA. 1144 VL .
VINDOV DETAIL o - ol 4 BOLT AND NUT IN CENTER SLOT
mpact Frame ayligl
SECTIDN F-F . i SerewaQty! o \IEE=== ey el e
SOAE 1+ 4 e [Gpening {Dro) PUSH MUT AT EACH RILLER LOCATION
15-1/4x 19-1/8| 11-1/8x 15 10 h{?l}%CQEATX gRETHHEJEE
16-7/8 x 19-7/8| 12-3/4 x 15-3/4 10 TOP FIXTURE ‘L" REINFORCING
16-7/8x 42-1/8| 12-3/4x 37-7/8 14 ANGLE BRACKET
15-1/4X 44-1/2 11—1/4X 40—1/8 14 DETAIL H DETAIL 1
12-3/4x 40 | 8-5/8x35-7/8 14 SCALE 1: 4 13 GA BOTTOM FIXTURE SCALE 1: 4
n 13x 38 8-7/8x 33-7/8 14 ATTACHED TO SECTION WITH
W\, DRTNE Crierre Sedud S PRODUCT REVISED
\ v
<N 77 INTERNAL STEEL BACKER - -T RE i
S ‘g(\\\EJK 0 2, PLATE ADHERED T0 INTERIR 12 GA EXTENSION BRACKET ATTACHED Buitaing Code | the Florida
S QN CENss INTERNAL STEEL BACKER OF THE SECTION BACKER WITH (3 174 - 14 X 7/8" SELF DRILLING NOA-No. 24-0814.04
= No. 77945 /S’ - OF THE SECTION BACKER USED TO ATTACHED STRUT Expiration Date 10/10/2029
Ik e STEEL B
. : c : - y
=4 k RS Miami-Dade Product Control
e s 3 PUSH NUT
205 51 F s =
SR ATEOR éé/\\ = 14 GA CENTER HINGE ATTACHED WEATHERSEAL
7, QgL LORIDA. - SO ° [ 9 WITH (4) 1/4 -14X 7/8" SELF DETALL K (ASTRAGAL)
7 S/ONA‘L e \ ] IRILLING CRIFPTITE SCREVS Lt
/ °n
‘I \\\\‘%/ \ J / UNLESS TTHERVISE SPECIFIED APPROVALS  TATE Wayne
THRD AL FROCTIDN INTERPRET DIIS & TOLS TOLERANCES: TRAVN . CONRAD __8/28/18 lton|  PENSACOLA, FLORIDA
7/3/ 1 @g PER ASME Y145H X =il UHELKED KIRNISH - | benseeooon:
' X =03 APPROVED = = IDESCRIPTION
DVAYNE J. KORNISH, PF ALL DIMS ARE IN XXX = £ MATERIAL - VINDLOAD MODELS 6600/8300/8350/8500
4576 COUNTY ROAD. 160 DETALL J INCHES ANGULAR = £.5° FITSH . 8600/8630/5150/5200/ THSI5/THSLS, +46/-52PSF
SCALE 1+ 4 DO NOT SCALE HOLES: DADE_CIUNTY, 172" HAX VIDTH
TR, B, TH " DIVISHR DFDDE/ERHEAD : by < 8291 = +004/-003 WINDLOAD SPECIFICATION  |SIZE[DVG NO REV
FL PE 77945 TX PE 117868 L S&Eﬁﬁ%nﬁgzlg%m DI CIRCIED NI ST AP i 025310 = 41l/-0) OPTION CODE 2311 ] . aE ]
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR ; FEATURES & MUST MEET APPLICABLE 00 = e/, .
VERIFICATION OF WINDLOAD CONSTRUCTION DETALLS, (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |A-L CETMETRY GOVERNED BY 3D CAD DATABASE: SCALE 112 | UDM = EA | SHEET 2 OF 4
£ F200410-GTRN REV ) 8 ' i ' 6 ' 5 ) 4 ' 3 i 2 I 1

>


Carlos Utrera
New Stamp


8 1

NOTES: (UNLESS OTHERWISE SPECIFIED)

WITH 1/4-14X7/8" SELF DRILLING CRIMPTITE SCREVS.

LONE 4" STRUT PER SECTION, AND ONE 3" STRUTPER BOTTOM SECTION, ATTACHED

(12) SECTION DOORS WITH

>

(1)
r LOCATED AS' SHOVN N
TRACK 13 GA MIN TRACK (1) SECTION DODRS WITH =
CONTINUOUS i (1) 47 18 GA 80 KST U- BARS
VALL ANGLE 7 13 6 MIN I 13 GA MIN 5 (D) 3" 20 GA 80 KSI U- BARS
1/4'-20 TRACK o \,/CEFLT IXHEHE o [|l_~TRACK CONTINUDUS 9 11L_—TRACK LOCATED AS SHOWN .
T 5 T 1 GA M TRACK /" | [ ] LI WAL AELE=C 0 T a6 o (10) SECTION DOORS VITH = -
CP e I W B ° (P st SO TR (10) 4" 18 Gh 80 KST U- BARS ~ ¥
il SCHEDULE [R CARRIAGE BOLT CLIP SEE SCHENULE K S SCHENULE () 3 20 GA 80 KSI U~ BARS
TP e VITH 1/4'-20 NUT o ' Y
16 GA STIFFENEND 2) 1/4'-20 TRACK LOCATED AS' SHOWN
[l JAMB BRACKET ] @ 1/4-209/16' u IR CARRIAGE BOLT . S I !
- @) 1/4 X 7/16 SEMI TRACK BOLT AND VITH 1/4-20 NUT o [N | M@ 17420 TRACK ©) SECTION DOORS WITH =) - E
TUBULAR ~ RIVETS Hi 17420 HEX NUT Hi RS Hig |l DR CARRIAGE BOLT (9) 4718 GA 80 KSI U- BARS
R e VITH 17420 BT () 3 20 GA 80 KSI U- BARS
LOCATED A5 SOV~
TYPICAL TRACK AND JAMB TYPICAL TRACK CLIP TYPICAL TRACK CLIP - = I8 b %
o~
- OPTIONAL WALL ANGLE TRACK B 2 000 8 IS
8 o {3 4716 th 80 K510~ BARS \‘: P 5 " ’E
PRODUCT REVISED () 3 20 G 80 KSI U- BARS
. as complying with the Florida LOCATED AS SHOWN
= Building Code g E
i 0 ST RS M N O N "
Fh Expiration Date 10/10/2029 (1) 3' 20 G]A 80 KSI U_ BAR&
- : LOCATED AS' SHOWN
L2 By - 18 ! | ! E !
o Miami-Dade Product Control (5) SECTION DOORS WITH E 3 EJ D;l %1 ;E‘
(5 4718 GA 80 KSI U- BARS
DOCR HEIGHT (1) 3" 20 GA 80 KST U~ BARS
LOCATED A8 SHOWN'
Pk B b kR
DOOR HEIGHT (4) SECTION DOORS. WITH - = ™
< (Al (4) 4718 GA 80 KSI U- BARS
e a Y B B B OB BB OB OB
STANDARD LIFT
_TRACK DETAIL A 4* STRUT OVERLAPS_ HINGES, ATTACHED
G L
I8 I | | | L ! I I
| o LOCATION AND (2) BETWEEN EACH - 2 & %‘ = - = - &
CENTER HINGE FER EACH STRUT
DETAIL N
TRACK DETALL c—@l . = SCALE 114
SCALE 1+ 12 e z ] o e 19 ! ! 18 é‘ B 18 !
: Z - >) i) = = P = i
T 3 STRUT ATTACHED VITH (@) 1/4-14x7/8" . . . . b b . b b
WNE J Ko SACIL HOICE LBCATION WD () BeTuen
\ i - 1 |4 2 4 1 | |4 R 4
o \?:{\\\ ------ KO@ “, = FACH CENTER HINGE FOR EACH STRUT = Py P Py P, P, = , &
S \,\CENS@".%/// i
= N Ero - . g -
55 v P2 O T T T
S 3 lad i =
-3 I DETALL 0 STRUT LOCATIONS
O staTEoF < US SCALE 11 4 SCALE 120
SR RN
"//6\@8-- LORIDM, .- Co\%\\\
>
“, / ONA V\x\\ ‘ UNLESS OTHERVISE SPECITIED IPPRIVALS _TATE | TWayne
SUAITITA NN/ L) THRD AYGLE PROCTIN [OLERANCES: DRAVN £ CONRAD _ 8/28/18 Dalton|  PENSACOLA, FLORIDA
INTERPRET DIMS & TOLS = (3 I T
91 sl | ooe e DOOR HEIGHT @ il Taisl LY PPRIVI] - —[DESCRIPTION
DVAYNE J. KORNISH, PE ALL II]II\I%%E%RE IN XK = £ i MATERIAL = WINDLOAD MODELS 6600/8300/8350/8500
4576 COUNTY ROAD 160 elieR = 5 T - 8600/8630/5151/5200/ THSIS/ THSRS, +46/~529SF
MOUNT HOPE, OHID = A DIVISION OF OVERHEAD DO NOT SCALE HULES-( 1251 = +004/-013 T A T o []\,/GDADNE[]CDUNTY‘ 12’2 MAX WIDTH o
FL PE 77945 TX PE 117868 HIGH LIFT VERTICAL LIFT 3395 AODSO TRIvE | DS CIRCLED, VITH SR - SINSP<IB> o) 500 = +006/-003 OPTION CODE 2311 ] T 5
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FIR TRACK DETAIL TRACKDETAIL ™ | PENSACOLA, FLORIDA 32514 | FEATURES & MUST MEET APPLICABLE 2 000 = 008003
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, [ALL OFOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 112 | UDM = EA [ SHEET 3 OF 4

T
ENG F20041D-FRM REV A) g

T 4

3

2

1


Carlos Utrera
New Stamp


8 i L 1 6 1 5 v 4 1 1 1
NOTES: (UNLESS OTHERVISE SPECIFIED)
1. FOR DIMENSIINS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAVINGS.
i
L by - N LENGTH = DOOR VIDTH -1
2,750 ' i
A A e NN 80 R r T < LB MR VDL : a0 i
T [+ I oo 270 a9 | : = L . 2375
4175 a :
3675 | o | L i A 2250 4000 e L b
| ¢+ — 1250 3 = g 7 Tj_l J = 506
12500 - 4,000 ~——034 THICK
TOP_FIXTURE ASSY. BASE, TOP FIXTURE L REINFORCING ANGLE BRACKET ROLLER CARRIER LIR (7-4) :
Bt AL 4 STRUT (UBAR) 3 STRUT OPEN WL (UBAR)
s ) KHC) 13°6A 80 KSI MIN. YIECD STRENGTH, 4 X 18 G 80 KSI MW VIELD STRERGTF, 37 X 20 GA
T0P_FIXTURE DETAILS STRUT DETAILS
— HI? 31
SECURED VITH (4) 605879-0002 SCREWS 1/4-20 X 5/8'
] 4 % [ - o )
0 ———1234 THROV
¢¢ 0 ' 000o0 l
8215 0] ool . I 5
0 i
g ¢ Q]? . 23 O 73w JE 4.IE|38 I
O . . 0O O 0O "
M@ o | s |- 900" 41 _ 4 toop b 1000 X IS THICK
I | [, =790
M /0 ' L R SIDE LOCK ASSY i
BOTTOM FIXTURE, BB-12 BRACKET, TOP RES, LHR
13 GA fo oA il i
#1 END HINGE / CENTER HINGE END HINGES
BOTTON FIXTURE DETALLS (K DETALES
HINGE DETAILS -
X 613 ?ﬂg a
= [/ —
S— - . 9 )
. 0437 l(_%“ Rl 8437 REF, 1{“—9'360 REF, 9433 REF, 1 ‘ 9 REF, 730 [ ;
A=t L1 N 740
Ty 7 = w1611 REF, . m{ 1811 REF, . o | 2833 REF, 1 18072 K
& \{\*E..‘!.KO 7, 1 T _J T{ f ] 1940 =
S lcENss e T ONNYLON TIRE A= STEEL TIRE o _| X 631
=9y -.d};// ROLLER ASSY, " L 1144 e 3750 '
SRS 5z LN RUCTERY ' :
S Nozress T Z S GTEEL RULLER) ROLLER #5351, 37 WL
= ¢ i JAMB BRACKET o
= - * 2 16 GA —— —L
2')3 .'.. .~. Q: | —— _—_PC-)__
2Oy, smiEor S GUS 4,206 — =
] ///6:9 p(OR\DP“ \é\\\\ PRODUCT REVISED ROLLER STEM ASSY DETAILS BRACKET DETAILS FLAG. ANGLE -
G Y 0 N EV\ o as complying with the Florida 13 GA
1113, AL\\{\\\ /,74/9 Building Code ONLESS OTHERVISE SPECIFIED APPRIVALS — TATE T Wayne
el 2 NOA-No. 24-0814.04 THRD WL FRLACTIN INTERPRET DINS & TOLS TOLERANCES: JRAVN [ CONRAD — 8/28/18] | Dalton|  PENSACOLA, FLORIDA
9 Ji % Expiration Date 10/10/2029 = PER ASME Y145M X, oH UHECRED 1, KIRNISH
10/10/2029 XX =103 APPROVED DESCRIPTION
DVAYNE J. KORNISH, PE @% ALL DIMS ARE IN X = 200 MATERTAL WINDLOAD MODELS 6600/8300/8350/8500
4576 COUNTY ROAD 160 By _ INCHES ANGULAR = £5° FINSH 8600/8650/5150/5200/ TH515/THS25, +46/-52PST]
Miami-Dade Product Control DO NOT SCALE HOLES: DADE COUNTY, 122" MAX WIDTH
MOUNT HOPE, OHID A DIVISION OF OVERHEAD all 2 004003
FL PE 77945 TX PE 117868 DOOR CORP DIMS CIRGLED VITH SYMBOL * (INSPIBN ot BE31 = H004/- VINDLOAD SPECIFICATION |SIZEDVG NI, REV
3395 ADDISON DRIVE ARE CRITICAL 10 QUALITY DESIGN | 0@1-8.000 = +.006/~003 OPTION CODE 2311 D D-363474 D
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR PENSACTLA, FLORIDA 32514 | FEATURES & MUST MEET APPLICABLE > 0500 = +008/-003
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |ALL GETMETRY GOVERNED BY 3D CAD DATABASE: SCALE 142 | UDM = |SHEET 4 OF 4
8 ' 7 ! 6 5 I 4 L 3 2 ! 1

ENG F200410-GORN REV A

>


Carlos Utrera
New Stamp


